Advé'nced Calculus

AB.Q403.REVIEW ASSESSMENT
(PART C)

DIFFERENTIAL EQUATIONS

(28 points)
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I (print name) certify that I wrote all marks made in this
assessment. | did not write anything that I do not fully understand. I would now, having
completed this assessment, be able to make similar (but equally accurate) responses if asked
complete the same exact assessment on my own.
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Let y = f(x) be the particular solution to the differential equation — =6
X
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A. Find —- in terms of y.
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B. Use part A to find f''(0).
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C. Solve the differential equation by separating the variables.
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3

Let y = H(¢) be the particular solution to the differential equation
d—H:l(IO—H) with H(0)=2.

dt 2
A. Use a linearization centered at ¢ = 0 to approximate the value of H(0.75)

B. Solve the differential equation by separating the variables.
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Let y = f(¢) be the particular solution to the differential equation

112 with £(0)= ’ !
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A. Find £'(0)

B. Find " (0).

C. Find limM
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condition f(2)=0.
A. Use the line tangent to fat x = 2 to approximate f(1)
B. Solve the differential equation by separating the variables.
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6.
Let y = f(x) be the particular solution to the differential equation

chosx+2y2 with f(0)=-3.
dx

A. Find £'(0)

B. Find 1" (0).

f(0)=19x+3
5x°

Al WC((”) - ‘P(/f’)’5>= Cos () ,LZ[?) :
B] F‘h{@ = —Sinx 4—%;%% N 4_¢7¢? /Cbsx *Zgz)

C. lim
x—0

\_/'\/\_)
1l " L Sv b /)
¥ {0)5":(0/’5)1—S'M/D)+‘f(—51,+,g) :

Cl \}m Fro—19% +3 ggg : [,-M J:(/x)’/‘i 5&3 _-[;M i"é_)
X0 Sx? o X0 o X X0 [©

) HprLs L ‘toPr S
2 e _ ~223
v v T
l
[i"’\ 'p(x\—lfx-f 3 =0 cad ["M yxl:a [ m -F/{k)»/‘?:o and [’4"« fx=o
x3o xdo Yo x=o



